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Horizontal point
(zero slope) implies
zero velocity.

Negative slope
indicates negative
velocity.

/ Continuing zero

Constant slope

means constant :

velocity. \ Distance
E 80 |- \ .
% Decreasing slope

40 + indicates decreasing
velocity.

Increasing slope 10 15

indicates increasing

Flattening curve || siope implies

implies velocity |I object is at rest.
becoming less :
negative.

: Time in seconds

velocity. : :
6 2 I\ Velocity | Negative siope
- : ' implies negative
r= : acceleration.
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Positive slope | [ Horizontal line :
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O

Bouncing Ball:
- Neglect air resistance.
- Inelastic bounce




1. fETHAHT - SKSLUTEUE - BRI - SB58R MR - T RELEAVERERIINERE - AETT
FRETEHEICEHy T Ui~ T EEIRE  T IR IR B (AERIE] -

REL ]
t/s 0 1 2 3 4 5 6 7 8
Si/m 0 2 4 6 8 10 12 14 16
t/s 0.5 1.5 2.5 3.5 4.5 5.5 6.5 7.5
v/ms1 2 2 2 2 2 2 2 2
t/s 1 2 3 4 5 6 7
a/ms2 0 0 0 0 0 0 0
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t/s 0 1 2 3 4 5 6 7 8
Sa/m 0 1 3 6 10 15 21 28 36
t/s 0.5 1.5 2.5 3.5 4.5 5.5 6.5 7.5
v/ms1t 1 2 3 4 5 6 7 8
t/s 1 2 3 4 5 6 7
a/ms2 1 1 1 1 1 1 1
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t/s 0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
S/m 0 0.45 0.8 1.05 1.2 1.25 1.2 1.05 0.8 0.45 0
t/s 0.05 0.15 0.25 0.35 0.45 0.55 0.65 0.75 0.85 0.95
v/ms?t 4.5 3.5 2.5 1.5 0.5 -0.5 -1.5 -2.5 -3.5 -4.5
t/s 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
a/ms? -10 -10 -10 -10 -10 -10 -10 -10 -10
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